MATEMATUKA
3 KJacce




C manou
AERT]













Y HesHauku n NoH4ynka BO3HUK Criop, 4TO
bonbLue:
1.04Ha TpeTbA YacTb CYTOK Unn 9 4acos;
2. OpgHa yeTBeEpTasa YacTtb roga nnv 4
Mmecaua?




e INMHA — 9 ™M

e llinpuHa — 7m
e [Mnowagb - ?
e [lepumeTp - ?
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Aeb=Dpeg

peMeCTUTEJIbHBIM 3aKOH
YMHOKEHU A

as(bec)=(a*b)*c

oyerareJbHbIR 3aKOH
YMHOKEHU A
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10,100,1000
HYMCHO CHpaea NPpUnUCamv K Hemy.y







BrlumCcJIn
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[TpoBepb cebst

10077=700 3*10=30
5*100=500 10078=800
10072=200 47100=400
1000"6=6000 971000=9000
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[TpoBepb cebst

30:10=3 50:10=5
300:10=30 500:10=50
300:100=3 500:100=5
3000:1000=3 5000:1000=5
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